AN = [ . . =
SHI6FESA AFER —EISFEBPER (60) 4R2BFE | w02/5/1
B0#) TE ss) 2w | @0 o o @ | o o e
RERARO (FHH) 16:10/165 £1A [ ®2A  R3A  R4A  [R5A  #E
10K) Ol 51720 £1A  (®2A  R3A  R4A |R5A @A
RIA €24 £3A  R4A  |R5A KA
K2A  IR3A  IK4A  K5A  |7E 1%
2(R) | 93RTYF X | 16:10 AR2A A3A K4A KR5A 7% =
K2A  IR3A  iK4A  K5A  |TE ITE
3(&) | BELSEE A
4(+) [#EYDAEE A
5(H) |[FEL0AE A
6(H) |IREKB R A
- . e B ‘ 1445/152 A1B A2B A3B A4B A5B 5';5%
TCK) |FERARERR HRO,IFRXVYT(F) X |5/ 1545 A1B (A28 A3B (A48 |ASB E &
HA1B H2B (A3B H4B |BA5B E-#
1610 KiB  ik2B k3B  i/k4B  |K5B  K6B
80K) | HEAFNEO Ol ‘1720 KB k2B (k3B k4B (k5B A
JKiB k2B k3B  i/kaB  |KS5B A
K1B A2B A3B K4B K58 we
9 (K) | 1 EELT A MR R X | 1610 KIB  (A2B  iK3B K4B |AK5B A&
A1B A2B K3B iAK4B |A5B #A
£1B £28B 3B £4B £5B FiE
10(4) | SEFHEOD B NFHRDO13:30~ (24545 - MBI REE) m| % 218 #28 ®3B £48 (258 ¥F
£1B  i$2B $3B $4B |[£5B FFE
11(+) X
12(R) | FELORLEHETHE X
A1B A2B A3B B4B &5A
13(H) X | 1510 A1B A2B A3B A4B &5A
A1B A2B A3B H4B £5A
1610 BRE k2A (KBA PK4A KA K6A
14(K) B es0 HEE  k2A KBA k4A [ KBA KEA
EE M2A  IK3A KA [MBA KA
1610 K1A IK2A IK3A JK4A JK5A JK6A
150K) | FRiZE2E B B 650 KIA - 1K2A K3A  iJK4A KA #RAE
JKIA  ik2A  iK3A  iJK4A  |KSA A
#HET BFT EET EF
16 OK) | E1EEHT A D X | 1405 EET KET O HPT O OBE
HET BERT HdeT E
BHT (WET O PE E
17(%) | E1EEHT RO X | 1405 a7 (BET O BF HE
EET BET O FE E
18(+) A
19(H) |REMA X
£1A £2A £3A £4A £5A
20 (1) |BEREOD B B EEE RIL(~6/14) X | 1510 £1A  i€2A &3A  £4A  |E5A
#£1A  €2A  ®3A R4A |#5A
1610 BiE «2B k3B (k4B [H5B k6B
21 (k) Ol 1720 BfE k2B k3B k4B [K5B  i:K6B
& N2B k3B k4B [N5B i :A6B
13:45,/ JKiB k2B k3B k4B k5B JkeB
22 0K) | BEAEMRBH T Ol 1610/ JKiB  ikeB k3B k4B |K5B A
17:20 KiB k2B #RE HE
A1B  iA2B K3B AK4B |K5B AR
23 (K) [1B21RITO X | 1610 A1B  iA2B K3B K4B |K5B AR
HE HE HE wa A& A&
‘ s 16:10/172 £1B €28 £3B 248 (€58 bﬁ
24 (&) | BEIRITO Ol £1B  {#2B (&3B $£4B (£5B  HA
I H$E $E wa A& wa
25 (1) (B2 1RITO X
HE HE HiE #Hwa #wa e
26 (H) |B&k- 1+ Ean R X
HA1A  H2A (H3A iH4A |[H5A
27(H) |3EERKE X A1A  H2A HA3A H4A |A5A
ik AR AR Ak Rk
16:10/ BfE M2A  IK3A ik4A [KBA D K6A
28 (k) | 1 ERAERRASS O] 11107 B IM2A K3A IM4A [KBA I NBA
17:20 B k2A (KA K4A |KBA K6A
16:10. K1A 7K2A 7K3A 7K4A IK5A IK6A
200K) | RIRE S Of 1710/ JKIA  ik2A  K3A  iJK4A KA A
17:20 JKIA  ik2A  ik3A  iJK4A  |K5A  #RA
AR1A  (KR2A  R3A [ K4A | KR5A #RAE
30 (K) [#RAFAB XBEHRELODE X | 1610 KRIA  1KR2A I R3A  [K4A | K5A  #RA
KRI1A  iK2A  R3A I K4A | K5A #RE
) e 1610/172 wa wa wa HE HE ﬁE
31(%) | 1 EERNNEE Ol % ®1B ®2B &3B £4B |®5B #KA
£1B  $28 £3B £4B |58 Be




